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B.Com. DEGREE EXAMINATION, APRIL 2021 & 

Supplementary/Improvement/Arrear Examinations 

Sixth Semester 

Commerce 

MANAGEMENT ACCOUNTING 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. What is Management Accounting? 

 ÷©»õsø©U PnUQ¯À GßÓõÀ GßÚ? 

2. What is common-size statements? 

 ö£õx AÍÄ AÔUøPPÒ GßÓõÀ GßÚ? 

3. What are the principle components of Financial 
Statements? 

 {v{ø» AÔUøPPÎß •UQ¯ EÒÏkPÒ ¯õøÁ? 

4. What are the modes of expressing ‘Ratio’? 

 ÂQu[PøÍ öÁÎ¨£kzx® ÁÈ•øÓPÒ ¯õøÁ? 

5. What is cash flow statement? 

 öμõUP |h©õmh AÔUøP GßÓõÀ GßÚ? 
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6. What is working capital? 

 |øh•øÓ ‰»uÚ® GßÓõÀ GßÚ? 

7. What do you mean by Budgeting? 

 vmh® £ØÔ }Ãº AÔÁöußÚ? 

8. What is master budget? 

 uø»ø© {vzvmh® GßÓõÀ GßÚ? 

9. Define standard costing. 

 uh AhUPÂø» – Áøμ¯Ö. 

10. What is marginal costing? 

 CÖv {ø»a ö\»ÄPÒ GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are special functions of Management 
Accounting? 

   ÷©»õsø© PnUQ¯¼ß £oPÒ ¯õøÁ? 

Or 

 (b) Explain the objective of Management Accounting. 

   ÷©»õsø© PnUQ¯¼À SÔU÷PõÒPøÍ £ØÔ 

ÂÍUSP. 
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12. (a) Calculate Break even Point from the following  
data : 

  Profit Rs.5,000 (20% on sales) 

  P/V ratio : 50% 

   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x C»õ£ |mh©ØÓ ¦ÒÎø¯ 
PnUQkP. 

   C»õ£® ¹.5,000 (ÂØ£øÚ°À 20%) 

   £[PÎ¨¦ ÂQu® 50% 

Or 

 (b) Calculate current ratio and Liquid ratio from the 
following details: 

 Rs.

Cash 18,000

Debtors 1,42,000

Closing stock 1,80,000

Bills payable 27,000

Creditors 50,000

Outstanding expenses 90,000

   RÌPõq® ÂÁμ[PÎ¼¸¢x |øh•øÓ ÂQu® ©ØÖ® 
öμõUP©õUS® ÂQu® BQ¯ÁØøÓU PnUQkP. 

 ¹.

öμõUP® 18,000

PhÚõÎPÒ 1,42,000

CÖv \μUQ¸¨¦ 1,80,000

ö\¾zuØS›¯ ©õ/^ 27,000

PhÜ¢÷uõº 50,000

öPõk£h÷Ási¯ ö\»ÄPÒ 90,000
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13. (a) Calculate fund from operation from the following. 
 Rs.  Rs.

To salaries 10,000 By Grass Profit 2,00,000

To rent 3,000 By Profit on sale of 
machinery 

5,000

To commission 2,000 By dividend received 5,000

To discount 1,000   

To depreciation 14,000   

To general reserve 20,000   

To provision for 
tax 

15,000   

To preliminary 
expenses 

5,000   

To selling 
expenses 

20,000   

To net profit 1,20,000   

 2,10,000  2,10,000

   RÌPsh C»õ£ |mh PnUQ¼¸¢x ö\¯ÀÁÈ 
{v°øÚU PnUQkP. 

 ¹.  ¹. 

\®£Í® 10,000 ö©õzu »õ£® 2,00,000

ÁõhøP 3,000 C¯¢vμ® ÂØÓvÀ 
»õ£® 

5,000 

uμS 2,000 £[Põuõ¯® ö£ØÓx 5,000 

PÈÄ 1,000   

÷u´©õÚ® 14,000   

ö£õx Põ¨¦ 20,000   

Á› Põ¨¦ 15,000   
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öuõhUP ö\»ÄPÒ 5,000   

ÂØ£øÚ 
ö\»ÄPÒ 

20,000   

{Pμ »õ£® 1,20,000   

 2,10,000  2,10,000

Or 

 (b) Calculate cash from operation. 
 Rs.

Net profit 1,00,000

Depreciation : 

Building 14,000

Machinery 5,000

Preliminary expenses 5,000

Provision for tax 10,000

Good will 5,000

Gain on sale of building 8,000

   ¤ßÁ¸® Â£μ[PÎ¼¸¢x ö\¯Ø£õmk öμõUPzøu 
PnUQkP. 

  ¹.

{Pμ»õ£® 1,00,000

÷u´©õÚ® : 

Pmih® 14,000

C¯¢vμ® 5,000

öuõhUP ö\»ÄPÒ 5,000

Á› Põ¨¦ 10,000

|Øö£¯º 5,000

Pmih® ÂØÓvÀ Qøhzu C»õ£® 8,000
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14. (a) What are the objectives of budgetary control? 

   ÁμÄ ö\»Ä vmh Pmk¨£õmiß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Prepare production budget from the following data : 
Product  Opening stock 

(units) 
Stock 

(units)
Closing stock

(units)

A 8,000 40,000 12,000

B 12,000 60,000 20,000

C 16,000 52,000 12,000

D 12,000 48,000 8,000

   RÌPsh ÂÁμ[PøÍU öPõsk EØ£zv vmh® 
u¯õ›UPÄ®. 

ö£õ¸Ò  Bμ®£ C¸¨¦ 
(A»SPÒ) 

ÂØ£øÚ
(A»SPÒ)

CÖva 
\μUQ¸¨¦

(A»SPÒ)

A 8,000 40,000 12,000

B 12,000 60,000 20,000

C 16,000 52,000 12,000

D 12,000 48,000 8,000

15. (a) From the following data calculate : 

  (i) P/V Ratio 

  (ii) Variable cost and 

  (iii) Profit 

 Rs.

Sales 80,000

Fixed expenses 15,000

Break even point 50,000
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   RÌPsh uPÁÀPøÍ PnUQkP. 

   (i) £[PÎ¨¦ ÂQu® 

   (ii) ©õÖ£k® Âø» 
   (iii) C»õ£® 

 ¹.

ÂØ£øÚ 80,000
{ø»¯õÚ ö\»ÄPÒ 15,000
C»õ£ |mh©ØÓ ¦ÒÎ 50,000

Or 

 (b) The following information is given by the companies 
ABC and XYZ. 

 ABC XYZ
 Rs. Rs.
Units produced and sold 85,000 85,000
Revenues 1,70,00 1,70,00
Fixed costs 80,000 80,000
Operating income 51,000 51,000
Variable costs 34,000 85,000

  Find out the break-even-point of each company both 
in units as well as value. 

   ABC ©ØÖ® XYZ GßÓ {Ö©[PÒ R÷Ç EÒÍ 
ÂÁμ[PøÍ öPõkzxÒÍÚ. 

 ABC XYZ

 ¹. ¹.

EØ£zv ö\´x ÂØ£øÚ ö\´u A»SPÒ 85,000 85,000

Á¸Áõ´PÒ 1,70,00 1,70,00

{ø»a ö\»ÄPÒ 80,000 80,000

C¯UP Á¸©õÚ® 51,000 51,000

©õÖ£k® ö\»ÄPÒ 34,000 85,000

  \› \© ¦ÒÎ¯ø¯ ¹£õ´ ©v¨¦ ©ØÖ® A»Q¾® JÆöÁõ¸ 
{Ö©zvØS PnUQkP. 
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 Section C  (3  10 = 30) 

Answer any three questions. 

16. Explain the nature and scope of Management Accounting. 

 ÷©»õsø© PnUQ¯¼ß C¯À¦ ©ØÖ® GÀø»PÒ SÔzx 

ÂÁ›UPÄ®. 

17. Prepare a Balance sheet with as many details as possible 
from the following information : 

 (a) Gross profit ration   – 20% 

 (b) Debtors Turnover   _ 6 times 

 (c) Fixed Assets to net worth – 0.80 

 (d) Reserves to capital   – 0.50  

 (e) Current Ratio   – 2.50  

 (f) Liquid Ratio   – 1.50 

 (g) Net working capital  – Rs. 3,00,000 

 (h) Stock turn over ratio  – 6 times 

 R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x C¸¨¦ {ø»U 

SÔ¨¦ u¯õº ö\´P. 

 (A) ö©õzu C»õ£® ÂQu® –20% 

 (B) PhÚõÎPÒ ÂØ£øÚ ÂQu® -– 6 uhøÁ 

 (C) {Pμ ©v¨¤ß «x {ø»a ö\õzxUPÒ – 0.80 

 (D) ‰»uÚ® «uõÚ öμõUP C¸¨¦ – 0.50 

 (E) |h¨¦ ÂQu® – 2.50 

 (F) }ºø© ÂQu® – 1.50 

 (G) {Pμ |øh•øÓ ‰»uÚ® – ¹.3,00,000 

 (H) \μUQ¸¨¦ ÂØ£øÚ ÂQu® – 6 uhøÁ 
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18. Prepare fund flow statement. 

Liabilities 2011  2012 Assets 2011 2012 

 Rs.  Rs.  Rs. Rs. 

Capital 60,000  75,000 Land 5,000 6,000 

General 
reserve 

10,000  15,000 Machinery 25,000 30,000 

Debentures 20,000  15,000 Cash 10,000 15,000 

Creditors 15,000  26,000 Debtors 15,000 5,000 

    Stock 50,000 75,000 

 1,05,000  1,31,000  1,05,000 1,31,000

 Adjustments : 

 (a) Dividend Paid during the year Rs.5,000. 

 (b) Depreciation on machinery Rs.10,000 

 {v |h©mh AÔUøP u¯õ›UPÄ®. 

ö£õÖ¨¦PÒ 2011  2012 ö\õzxUPÒ 2011 2012 

 ¹.  ¹.  ¹. ¹. 

•uÀ 60,000  75,000 {»® 5,000 6,000 

ö£õx Põ¨¦ 10,000  15,000 C¯¢vμ® 25,000 30,000 

Phß £zvμ® 20,000  15,000 öμõUP® 10,000 15,000 

PhÜ¢÷uõº 15,000  26,000 PhÚõÎPÒ 15,000 5,000 

    \μUQ¸¨¦ 50,000 75,000 

 1,05,000  1,31,000  1,05,000 1,31,000

 \›UPmhÀPÒ : 

 (A) CÆÁõsiØS ÁÇ[P¨£mh £[Põuõ¯® ¹. 5,000. 

 (B) C¯¢vμzvß «uõÚ £[Põuõ¯® ¹. 10,000 
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19. Explain the methods of Financial Budgets. 

 {v vmh £mi¯¼ß ÁøPPøÍ ÂÍUSP. 

20. The sales and profits during two years were as follows : 

 Sales (Rs.) Profit (Rs.)

2011 1,40,000 15,000

2012 1,60,000 20,000

 Calculate : 

 (a) P/V ratio 

 (b) Break-even-Point 

 (c) Sales required to earn a profit of Rs.40,000 

 (d) Fixed cost. 

 (e) Profit when sales are Rs.1,20,000 

 Cμsk Á¸h[PÐøh¯ ÂØ£øÚ ©ØÖ® C»õ£® R÷Ç 
öPõkUP¨£mkÒÍx, 

 ÂØ£øÚ  
(¹.) 

C»õ£® 
(¹.)

2011 1,40,000 15,000

2012 1,60,000 20,000

  Psk¤i : 

  (A) C»õ£ AÍÄ ÂQu® 

  (B) C»õ£ |mhªÀ»õ ¦ÒÎ 

  (C) ¹. 40,000 DmhUTi¯ ÂØ£øÚ 

  (D) {ø»¯õÚ ö\»ÄPÒ 

 (E) ÂØ£øÚ ¹. 1,20,000 GÝ® ÷£õx C»õ£®. 

 

———————— 
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